ORYN\JRFIII—
Robotic Hand Changer

SREEREORYN\RFIIIv—
High precision robotic hand changer

@£ - 1V)\U MERET
Light and compact

OSHBRELUERIRGE
High accurate repeatability

0= o - Sl
High durability and rigidity

X DEHEA Model number description

YAY—=IUv4 (ORwy MED Y=IL75 75 (J\2 Rl)
Master cylinder (Robot side) Tool adapter (Gripper side)
O KWRYOO01 0—M KWR 007 O-M F KWRYOO10-T KWR 007 O-T
8K
= 012 012
%Q 025 025
= 050 050
=
o 4
g1

= MYHE TP E 0.56MPa OO AIREE T,
n E_”ﬂ%"zgg Payload *Payload at 0.5 MPa

001 : 3kg 007 : 7kg
012: 12kg
025 : 25kg
050 : 50kg

;o ; MR—MAT Y3V RBYRY =2 UV S ICOHERLET,
E ﬂ-\p_ I\Z-jja ~ Port Optlon *The port option is applicable to the master cylinder only.

#Es - h— MEL Blank : No port
F & (BEEESRR— M) F : Standard (with Seat Check Port)
A I7—JO—HR— MMt A : With Air Blow Port

A= E Payload

q . = 3kg Tkg 12kg 25kg
R—hAT a3 iEs

Port option symbol KWRY KWR KWR KWR KWR
0070 0120 0250

AL H Blank o
F o o o o
A [ ] o o o

@ : ¥ISA]  Available



M{t#XR Specifications

B Model KWRY0010 KWR0070 KWR0120 KWR0250 KWR0500
0.5MPak¥
AREE at 0.5MPa ke 3 7 12 25 50
Payload"' MPa k%
at MPa ke 6 12 20 45 90
RIBHIREE
Repeatabiity mm 0.003
U7 hEGLAELE)
Lift stroke (Detaching stroke) mm 08 08 03 10 1.0
Oy 2o 3
JUVIRE Lock cm 0.64 1.50 2.38 6.08 14.38
Cyinder capacity V=2 cm? 072 172 2,69 6.68 15.39
Release . : . . :
REEREN MPa 10 10
Max. pressure
EEEJJFFI;T{:T:#J H‘i{&{iﬁﬁ&ﬁ MPa 04 035
Operating air pressure Min. pressure
it £
Withholding pressure MPa 15 15
OMPafi%*
at OMPa™ kN 0.12 0.15 0.32 0.57 0.95
0.35MPaff
at 0.35MPa kN 0.68 1.14 2.31 4.44
EERED 0.4MPaf¥
Holding force at 0.4MPa KN 045 0.75 126 2.56 494
0.5MPaB¥
at 0.5MPa kN 050 0.90 150 305 594
TMPaR
at IMPa kN 0.90 1.64 267 553 10.92
0.35MPafF 0.03
at 0.35MPa N oavpa) o 0.16 038 077
UZ bHhEGLE L) 0.5MPaf
Lifting force(Detaching force) at 0.5MPa kN 008 020 0.30 0.68 1.34
TMPaf
at MPa kN 0.23 0.51 0.78 1.66 3.27
H1F 7 (0.5MPaf) .
Bending (at 0.5MPa) N-m 5 14 27 74 194
HFRBHE— AR #i(FA R (1.0MPakF) i
Allowable static moment™ Bending (at 1.0MPa) N-m (10) (25) (45) (135) (350)
Sl
nl.’ .)7‘;,'|'E:] N-m 12 23 45 100 175
Twisting
# (¥ H (0.5MPaf¥)
Bending (at 0.5MPa) N-m 10 28 54 148 388
BABHE— A2 BH(F 77 (1.0MPaks) .
Max. load moment™ Bending (at 1.0MPa) N-m (20) (50) (90) (270) (700)
Sl
1;1 l’ ) %l N'm 24 46 90 200 350
Twisting
ERRE .
Operating temperature c 0~70
fERRE o= .
Usable fluid FSALT Dryar
RRE—=UHF
REE™ Master cylinder g 85 180 250 500 1000
Mass™ V=T EITH
Tool adapter g 60 120 160 300 750
M5 X 27K — |
IT7R—-ME FYA X x R— K M3X67R— | | M5X6R— | | M5X67R— | | M5X67R— | | Rc1/8X4R— b
Number of air ports Thread size x number of ports M3x6ports Mb5x6ports M5x6ports M5x6ports M5x2ports
Rc1/8x4ports

*1 EIETRICE, AIMEEEHTHNE— AV FOBAEEEENET.
Please consider both the payload and allowable static moment when selecting the product.
*2 BERICITENNOMPaL > EIFEDERRBFATH Y, AHEREBETEHOTIIHY EFEA.

It indicates holding force when air pressure becomes OMPa after connecting and may not meet the specification.

*3 RABRE— A2 FTEALLEES.

TEAKRZBETSODOTRHYEEA. FBRHHE— AV FMATIERASLEZ,

The product must be used within Allowable Static Moment. Using at Max. Load Moment will not meet the specifications.
¥4 BRHEEE. AT aVEESELRVEAEOALDEEERLET,

The mass of product is without options.

%6 B, T72aA M MeEDAT a3V RD

— https://prodkiw.co.jp/mtools/robothand/acc/kwr.html
Please see our website for options such as electrodes and air joints.

— https://www kitagawa.com/en/mtools/robothand/robot-accessories/kwrhtml

HHCOVWTRY I TY A bEIBRILEEL,

English

el m |
ax
g%
g_l\
D 2
S F
oz
22
éy
sV




20 aRybvRFIvY+— Robotic hand changer

OKWRYO0010 ARtk
KWRYO0O010 External Dimensions

RRZ—=IIH
Master Cylinder

3—@3. 47
BHZ 7106
3—@3. 4hole

Counter bore @6
from the bottom

6— L7 AAR—K M3
6—Air port (M3)
(For jointing)

1—@5h7>
1—@5h7pin

0w R—k (M3)

UY=RH A
Air port (M3)

(For release) %ﬂzﬁﬁg% 13 ~
| m e —
\ } Lock KWRY0010-M
Do ©®

SER.No. ‘

3.5

T rEsy
-
N
&
17

28

_ i "
& - D =1
: BLivs
WS
= | BE
[ S S
K| R2
o
@38 al
[
Y—IVT7 R TR \ ‘ o [ 1 ‘ T ‘ = ©
Tool Adapter ‘ PN

14

[T |
BT
/L_u @20;-|7 B

1—@3h7E>
1—@3h7pin

3—M3x0. 54, 5
3—M3x0. 5thread depth4. 5

6—T7HAR—k M3
6—Air port (M3)
| (For jointing)

15




(ditagawa

OKWRO070 AHe~TiE
KWROO70 External Dimensions

RRZ—=IIIH
Master Cylinder

MA : T7770—1KR—k(M5)
MF : ZEHEERAR— b (M5)
MA : Air blow port (M5)

MF : Seating check port (M5)

6—T7BAR—k M5
6—Air port (M5)
(For jointing)

BlA 7Y aVEE
Electrode option
mounting surface

4—@3. 45%

EH> U106

4—@3. 4hole

Counter bore @6 from the bottom

JI)—XI7KR—hk M5

. 2—@4h7EY MA : AirBlow ng
Air port (M5) 2-@ah7pin 047 } MF : Check g%
m\. ¥ g | m | m . m > 25
T T8 Release To 1 o KWRGD70-M: %;I:
i “ e 5 it E
~elple] Ny W R4 Wak [ Jelelel i K
I B = ‘ rg |
sonqk ") ﬁ W < E2| T
Rough Guide ; & i _W:D %§ D
0w I7HR—F M5 ﬁﬁ;gﬁ
Air port (M5) (For lock) AK|ZE
L L I f T %?:/ L L I
Y—IVTE TR [ ! ' } @ } ™ [ WRO0070-T }
Tool Adapter H@‘ ‘@‘ | ‘@‘ } H@’ (e} | D “@H [ ‘@iE&PN(l@ ‘ ‘@H
2-oanrey W e U i
2—@4h7pin
6—T7FKR—k M5 2050225
6— Air port (M5) 5 - EAN

(For jointing)

19.540.03

e

19.5%0.03

(@23.5)
S ~swoo T Thinned Part

4—M4x0. 725%8. 5

4—M4x0. 7thread depth8. 5




20 aRybvRFIvY+— Robotic hand changer

O®KWRO0120 AFTiE
KWRO120 External Dimensions

RRAZ—=II)H
Master Cylinder

MA : T7780—RK—Fk(M5) -
MF : a%ﬁﬁwa“\ " (M) 0525
MA : Air blow port (M5)

MF : Seating check port (M5)
6—TL77FAR—k M5
6—Air port (M5)

(For jointing)

(@358 =ER)
(@35) Thinned Part

BBA T3 EE
Electrode option
%, mounting surface

—@4. 55}
%73; "57@/7\\\')@7. 5 MA : AirBlow
Counterbore 7.5 W=2T7H—k M5 /235~ 1 2—@an7e MF : Check
from the bottom  ~Air port (M5) - 2—04h7pin @54
(For release) m | W T ‘ m | m m | m
‘ } } ? Release ‘ & | g Kmig;ﬁg,;ME ‘
I |Lock ™ — AirBlo
Hitdfo[olefe]] s W B[ e W . EIEEIN
S 744K Rough Guide AJJ \@ €ﬁ W bl olo E?_ - b & 4 uJ
1:1“/'717’/1"\’—[\MS///r %g'ﬁé
Air port (M5) j\'iﬂ:ﬂ g &
(For lock) EN PI< B
L
b e - Q;' -
Y—IV7E T4 I R | e a | % [ ezt
Tool Adapter Mol [ &l 1|7 W ol | lof W e kmo\@\ \@\ﬂ
2—@4h7E> : o~ ‘ w @54 + ‘
2—@4h7pin ; |
6—T7AK—k M5 n2y,

6—Air port (M5)
(For jointing)

(3058

(@30)
Thinned Part /£

22.5%0.03 22.5£0.03

K‘ﬁé‘ﬁl

4—M4x0. 72239
4—M4x0. 7thread depth9




(ditagawa

O®KWRO0250 AR~TiE
KWRO0250 External Dimensions

RRZ—=IV)H
Master Cylinder

6—I7AAR—hk M5
6—Air port (M5)
(For jointing)

(@50ZE = &h)

(@50)
Thinned Part

AL

BiRA 73 B m
Electrode option
T, mounting surface

4—@5. 5\ EHZ F7)D9

4—@5. 5hole
Counter bore @9 | . e |
from the bottom T71)1)—RZKR—k M5 T70voR—k M5
Air port (M5) (For release) A M5) (For lock
o AT s |rport( ) (Forlock) _ @73 .
2—@4h7pin ‘ ‘m 5TR - " M “ il M
Y e ase KWR0250-M a
W\ 1 ' N 4 Q@ ‘ (Ditagawa ) §-7‘"5
. Check | T = hiflou Logk - © < © aR
relsleleft AL L bo 1% bl g olejelo] e
— w N ) L — o
STALE ] ~ WE gz
W@ 8 O = & 0 55 R LE
Bt g K1
MA: T770—HK— b (M3) EINER
MF : BREREERR— bk (M5) R
MA : Air blow port (M5) Q Xla &
MF : Seating check port (M5) |_j | Calg)
N
CARP
, g | SERNo. | ® g g ‘ ’
P L o O N
ofioTol 1] = [ ke[ [[e] ole|e]e]
) I o} il il M
2—@4h7E> @73
2—@4h7pin
6—T77FHR—F M5 /o
i o (1) B4 T2V RE

(FOF jointing) (@43/m :ﬁB)
(@43) Thinned Part

Electrode option
T mounting surface

4—M5x0. 8 FE11.5
4—M>5x0. 8thread
depth11.5




25 aRyMv/FFz27¢= Robotic hand changer

O®KWRO0500 AR~TiE
KWRO500 External Dimensions

RRZ—=II)H
Master Cylinder

2—I7FKR—k M5
2—Air port (M5)
750 (For jointing)

A—TIT7HR—F
Rc1/8

4—Air port (Rc1/8)
(For jointing)

© B4 TV VENE

Electrode option
mounting surface

0

4 Part

(@60 B=
(g60) TN
4—06. 8N EHZ H51) @11

4—@6. 8hole
Counter bore @11 L 45.5 745, |
from the bottom L7711 —XKR—k M5 T7OvaHRE—k M5

_ o Airport(M5) (For release) Air port (M5)
2_ ®5h7.t/ (Forlock) A < 298 ‘
2=@5h7pin S — m | m m
e T T & |l reese IR
wazaiow|| lololle] | A1l [l o 5l (| lole]elor
MF : Check o1 [p[d] - oo | | ] mfﬁ ‘ SERNo.
e e ) I o I |y o i} :
Z7HAK Rough Gmde/@'fj o eﬁ S o= Eﬁ @
- g 2.9 €| _
MA : T77780—KR—k (M5) N
MF : B HeER A — b (M5) g 58
MA : Air blow port (M5) DNIBE
MF : Seating check port (M5) S | |o g
O -,
o5
9 o
17575 s S ) e 1
-_— 53 K3 KWROSO0-T
Tool Adapter ‘@‘ ‘@‘ - ‘ ‘ ° ‘ HJ ‘@“$H$H@W
 —— O m !
ok L 298
2—@5h7E>
2—@5h7pin
A—ITRAR—F 750 }\ﬁ@
4—Air port (R1/8) -2/
(For jointing)

4—M62RIFE16
4—Mé6thread depth16
2—IT7RAFR—F
2—Air port (M5)

(For jointing)




